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C = 2000+0.75Yd    /    I = 4500 - 2000 i     /   T = 4500 + 0.2Y    /   M = 3000 + 0.1Y     /   G =1000

X = 4000  /  TR = 6500  / MP = 9000 - 500 i   /  M1 = 2000 + 0.2 Y /  M2 = 5000 + 0.3Y  / Ms = 21000 

I- 
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2/(LM)Hieks
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3/

4/

II -  23500 .ون 
1/ (IS) (LM)

2/

3/

- 0.8

0.04

1/ (IS) (LM)

2/

3/

1/(IS)Hansen  

Y = C + I + G + (X – M) 

Y = a + b (Y- (T0 + tY) + R0) + G0 + I0 + X0 – M0 – mY - µ i     

Y = a + b Y- bT0 - btY+ bR0 + G0 + I0 + X0 – M0 – mY - µ i     

Y - b Y + btY + mY = a - bT0 + bR0 + G0 + I0 + X0 – M0 - µ i     

Y (1- b + bt + m) = a - bT0 + bR0 + G0 + I0 + X0 – M0 - µ i     

Y = 1 / (1- b + bt + m) . ( a - bT0 + bR0 + G0 + I0 + X0 – M0 - µ i )    

IS: Y = 1 / (1- 0.75 + 0.75 (0.20)+ 0.1 ) . (2000 - 0.75 (4500) + 0.75 (6500) + 1000 + 4500+4000 - 3000 - 2000 i ) 

   

IS: Y = 1 / 0.5  (10000 - 2000 i )    

IS: Y = 20000 - 4000 i                                                                      

2/(LM)Hieks:

                    L = M 

L = LP + Le = (L1 + L2) + Le  = (2000+ 0.2 Y + 5000 + 0.3Y) + 9000 - 500 i  

L = 0.5 y  - 500 i + 16000 

L = M  =>   0.5 y  - 500 i + 16000  = 21000 

0.5 y  = 21000 – 16000 + 500 i   =>    y  = (500 i + 5000) / 0.5   =>    y = 1000 i + 10000 

LM: Y = 1000 i + 10000                                                                                  
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3/

(LM  =IS).

20000 - 4000 i = 1000 i + 10000 => 1000 i + 4000 i = 20000  -  10000   =>   5000 i = 10000 

=>  i =   10000 / 5000   =>  i 

*
 = 2 %  

Y
* = 1000 (0.02) + 10000 =>  Y*

 = 10020 

-

                                         

 

   

 

 

 

4/ 

- (T):                                                 4500 + 0.2 (10020) = 6504  =0.2Y  + 4500 T =

- (dY):                                                  10016=  6504 + 6500 – 10020  =T + R  –= Y  dY

- (C):                                            9512=  0.75 (10016) + 2000  = d=2000+0.75Y C

- (I):                                                   4540=  2000 (0.02) - 4500  =i2000  - 4500 I =

-  23500   
1/ (IS)(LM)

(IS) (LM)

ΔY = ke ΔM                /       ke = 1 / 0.5

 ΔY = 1 / 0.5 ΔM = 1/0.5 (23500-21000) = 1/0.5 (2500) =  5000 

2/

-

(LM  =IS) . 

IS: Y = 20000 - 4000 i 
LM: Y = 1000 i + 10000 + ke ΔM = 1000 i + 10000 + 5000 = 1000 i + 15000  

 % 1 = 
*

i  =>0   = 0005 -i  0005=>     i  0004 - 00002 = 00051 +i  1000=>  LM  =IS 
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Y
*
 = 20000 - 4000 (0.01) =>  Y

*
 = 19960 

10020  19960 
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3/  

- (b = 0.8)(m  = 0.04) 
1/ (IS)(LM)

ke = 1 / (1- b + bt + m) = 1 / (1-0.8 + 0.8 (0.2) + 0.04) = 1 / 0.4 = 2.5  =>       ke = 2.5 

(IS) (LM) 

2/

(LM  =IS) . 

IS: Y = 1 / 0.4 ( 10000 - 2000 i ) = 25000 - 5000 i 
LM: Y = 1000 i + 10000  

  00051 =i  0006 =>   00001 +i  1000 =  i000 5 - 00025=>  LM  =IS 
     2.5 % = 

*
i  =>

Y
*
 = 25000 - 5000 (0.025) =>  Y

*
 = 24875 

3/ 

- (T):                                                 ) = 9475 248754500 + 0.2 ( =0.2Y  + 4500 T =

- (dY):                                                  21900=  9475 + 6500 – 24875  =T + R  –= Y  dY

- (C):                                          18425=  0.75 (21900) + 2000  = d=2000+0.75Y C

- (I):                                                 4450=  2000 (0.025) - 4500  =i2000  - 4500 I =

 (Y) 0 
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